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General Instructions:

1. The question paper consists of 14 questions divided into 3 sections A, B and C.

2. Section A has total 6 questions of 2 marks each.

3. Section B has total 4 questions of 3 marks each.

4. Section C has total 4 questions of 4 marks each having 2 questions based on case study.

5. There is no overall choice. However internal choices are provided in 2 questions of 2 marks, 1-1
questions of 3 marks and 4 marks each. You have to attempt only one of the alternatives in
all such questions.

6. There is no negative marking.

7. Use of calculators is not permitted.

GUs 3/ Section - A

1. U O BT g% GEIT SR 264 m? € AT ST qFad 924 m1 € | ge T SATE AT SATH HT AT
AT I |

The curved surface area of a cylinder is 264 m”and its volume is 924 m’. Find the ratio of its height to
its diameter.

et/ OR

UH 7 HI AT AT T F 20 m TS O GIET STaT ¢ i @iad & fAeeft g2 gt 1 q9e &9 § FaArae

22m x14m TAATS AT U FGALT 9T TAT 81 3 FGAL 1 SHATs A1 HIo)

A 20 m deep well with radius 7m is dug and the earth from digging is evenly spread out to form a

platform 22m X 14m. Find the height of the platform.



2. k 1AW 1 fforn e oo Gema adfismor x® + k@2x + k - 1) + 2 = 0 F Freata gef 2

Find the value of k for which the equation x>+ k(2x + k—1) + 2 = 0 has no real roots.

3. i § PQ & RS %% O aTer g 9¥ &l qHTq FI8-<@TU g | AT #9e7-<@r AB, et #=997-f6g C g, PQ & A
TIT RS %l B 7% wia=3= wedt & | g A % AB=AD + BEZ |
In figure PQ and RS are two parallel tangents to a circle with Centre O and another tangent AB with
the point of contact C intersecting PQ at A and RS at B. Prove that AB = AD + BE.
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4. <Y bt /| F7 A AT e |

In the given figure, find the value of 1.

11.3 m

— 60°

5. @ it mroolt 7 iy ot & arer agi it gear sta fifsw |

Find the mean of children per family from the data given below.

EELETR: 1]
Number of children I 2 3 4 > 6

TIET T HEAT
Number of family

g4t / OR
FE AN-AALTA AT I o7 FSTEaRT AeT-fovg 18 i a-ATT 10 3 |

Find the class interval having class-mark 18 and class-size 10.



6. af T (m? + n?)x? -2(mp+nq)x+ p® +q® =0 ¢k TH & 4T 297=0 fF mgq=pn g |
If the equation (m” + n?)x* -2(mp+nq)x+ p> +q°> =0 has equal roots, then show that mq= pn.

GUs & / Section — B

7. =HET 9€r 17,21,25,..,93 F &9 & H1qat 98 S0 A |
Find the 7™ term from the end of the AP 17,21,25,...,93.

8. TF FATT F FHATAT 7 ATEq aoie (FFFum #) 82 91T 14T | 313719 Samear z S =ity |

The median weight(in kg) of the employees in an office is found to be 82. Find the missing frequency z.

EEEN(ETIE)

Weight (in kg) 45-55 | 55-65 | 65-75 | 75-85 | 85-95 | 95-105 | 105-115
o 7 12 17 z 32 6 10

No. of employees

9. U% 7.6 HERfter T Y@@ GiAU | s @@ & 3:1 F At o | At fifew |
a7 9T 1 "I |

Draw a line segment of length 7.6 cm and divide it internally in the ratio 3:2. Measure the two parts.

10. m% 5 &t Brear F g FFH5 O 7 13 F+ft it Tt w2 B fHig P & 397 w2 wef-3@md PQ &% PR &=t w3 |
FIH1 PROQ T &5 ST ol |

From a point P which is at a distance of 13cm from the centre O of a circle of radius Scm, the pair
of tangents PQ and PR to the circle are drawn. Find the area of the quadrilateral PROQ.
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Prove that the length of the tangents drawn from an external point to a circle is equal.



Vs &/ Section - C

11, =37 6 59t 3 g9 7T 7759 800 F HIT 9T et T8 @Il 0l TAAT-611 T |

Draw two tangents to a circle of radius 6 cm inclined at an angle of 80°.

12, e WA of it &, @7 F are & #fiefy T & =t 27 e F g Fwor 30° i 45° § | 7fE Fwr A F uw
T UF gL H 83 Hiex I 9 & dT HI1E 6l SaTs A1 Sy |
From the top of a vertical tower, the angles of depression of two cars, in the same straight line with the

base of the tower, at an instant are found to be 30° and 45°. If the cars are 83 m apart and on the same
side of the tower, find the height of the tower.

aoEr / OR
60 H#T S= WA F fOrET ¥ UF weRer-Faeq * T T qre F A qur aq=ae Hor waer: 300 qur 60° F |
TRTLT-FqET AT T 6 = ¥ T AT FHT | Fehrer-wae it HaArg ofF 77 o |

The angle of elevation of the top and the angle of depression of the bottom of a light-house is found to
be 30° and 60" respectively from a 60 m high tower. Find the distance between the light-house and the
tower. Also find the height of the light-house.

13. = e sy qei &t 10 arde i 1500 =93 7riee e aar ¢ | Femea § 113 fig 7 105 =90 afafeq &

RHTa & AT FET SAar g | AT wad,2020 § 10 G & SAIT i Aol A9 TS |

A school charges a fee of Rs 1500 monthly if paid till 10" of respective month . From 11" day they put
a penalty of Rs 105 per day. Rama was not able to pay the fees on the 10" of February, 2020.

(i) TAT T FAL qE g B 2445 G (F0F F) 9 | T/ A wEl T qrE w e wd?

Rama paid total 2445(In rupees) fees for the month of February. On which date of
February did Rama pay the fees ?

(i) 7f% THT 1 979,2020 F¥ FLALT ST AT A1 Hg Al 1 B GIAT ¢ T IH T v T4 37 g 2
If Rama pays the fees on 1* of March,2020 for February and March both then how
much amount will she has to pay?



14 54T o 5T &1 B T2 I 6 L 0l U 261 g1 IH 20l 1 T YU Sl § 9 T 61 T FRT TgaT H7
AT STAT | T GIEATT el U SATH & A1 ol g, [oreenl 910 1.57 47 x 1.44 9 x 95 HHT gl Fa i
T r BT 60 FHT ¢ S ST 95 At g TReT fam ot § q1eT R 96T A= Aot qell S g 37

THT 70 T HATE TH ST AL AT g |

Selvi’s house has an overhead tank in the shape of a cylinder. This is filled by pumping water from a
sump (an underground tank) which is in the shape of a cuboid. The sump has dimensions

1.57 m x 1.44 m x 95 cm. The overhead tank has its radius 60 cm and height 95 cm. One day while

pumping the water into the tank, the power shuts down and tank is filled upto a height of 70 cm only

(i)  TEATT ZhT § 9T a9 TIAT 60 /AT 1 I |

Find the remaining water in the sump.

(i) TF A H T 9 g2 GfRera S & Aot S Ehaet s ad o aedt g ?

How many times the cylindrical tank can be filled by the completely filled sump ?



